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39-After being sick in bed for 3 weeks, he had to study hard to
............. up with therest of the class.

1) cair 2) catch 3) get 4) stand
40- 1'd send him a postcard if | .......ccceeuenene his address.

1) had 2) had had 3) have 4) have had
41- Janeis sixteen, but she still playswith her dolls. | ‘m
quite.............

1) surprise 2) surprising 3) surprised 4) surprisingly
42- A: how bigisTehran?

Bl

1) It's pretty wet 2) It's got alarge population

3) It'sacrowed city 4) Quitealot
43- Pleasedon’t put on thisdress. It isnot ............... for that party.

1) suitable 2) sufficient 3) social 4) similar
44- He said he was going to work, but .............. he went to the cinema.

1) politely 2) actually 3) honestly 4) simply
45- “Did you hear what she was saying?”

“NO, WEWEN€ ....cvvevverearrnenn for away to hear him”.

1) enough 2) so 3) too 4) such
46- “ | have decided to try and learn a foreign languge.”
“Have you? which language............... ?

1) You have learned 2) you are going to learn
3) have you learned 4) are you going to learn
47- Reza isn't playing tennis now. Heiswatching T.V.
He .o T.V since six o' clock.
1) iswatching 2) has watched
3) was watching 4) has been watching
48- “Would you please tell him to give back all the money?”
“ Yes, | will tell him to give........... "

1) back it 2) it back 3) back them 4) them back
49- During the office meeting therewas along ............... about.

1) discussion 2) invitation

3) limitation 4) collection
50-Tom’swork at school isabovethe............. He will be
awarded a present soon.

1) number 2) grade 3) degree 4) average
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